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1. Simplify these fundamental identities
_a. sin’ x —1= 7 b. 1+tan’x= . 1 S A d. cos(—x)= Cos X
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2. Solve 4sinxcosx =—1 for the interval [0, 27)

: / Hint: What is sin(2x) ?
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3. Solve cosx+2=2sin’x forall x
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3. Find all solutions in the interval [O,Zﬂ)':
cos’x+2cosx—3=0
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4. Find all solutions in the interval [0,27:):
sin2x = sinx
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8. Findcos2A4 if sin A :% and A is in the second
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9. Verify M=tany+cotx 10. Verify + 1 =2csc’x
tan xcot y l-cosx 1l+cosx (
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11. Write the equation of the parabola x=2-y-z 5 J \j r3
 y=ax’ +bx +cpassing through points 15 Selved— 5= -
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14. Solve 15~ 2(73“4
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2x 1 17. Find the value of the third term of the binomial
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18. Consider the expansnon of [2x +3) =256x"" +3072x”° +...+ kx° +... Find k.
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